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#include <stdio.h>
#include <math.h>

double v1(double t, double v, double
return -g * m * xy / pow(r, 3.0);

b

double v2(double t, double v, double
double h) {
return h * vi(t, v, g, m, Xy, r);

}

double v3(double t, double v, double
double h, double k) {
return h * vi(t + 0.5 * h, v + 0.5

double v4(double t, double v, double
double h) {
double k1, k2, k3, k4;

k1 = v2(t, v, g, m, Xy, r, h);

k2 = v3(t, v, g, m, xy, r, h, kl1);
k3 = v3(t, v, g, m, xy, r, h, k2);
k4 = v2(t + h, v + k3, g, m, xy, T,

g, double m, double

g, double m, double

g, double m, double

* k, g, m, Xy, I);

g, double m, double

h);

return v + (k1 + 2.0 * k2 + 2.0 * k3 + k4) / 6.0;

double xyl(double t, double xy, double v) {

return v;

double xy2(double t, double xy, double v, double h) {

return h * xy1(t, xy, v);
}

Xy,

Xy,

Xy,

Xy,

A 0O000o0bOoOooooooooooobooooon

double

double

double

double

double xy3(double t, double xy, double v, double h, double k) {

return h * xy1(t + 0.5 * h, xy + 0.

}

17

5 % k, v);

r) {



double xy4(double t, double xy, double v, double h)
double k1, k2, k3, k4;

k1
k2
k3
k4

retu

int ma
doub
doub
doub
doub
int
int
doub
doub
doub
doub
doub
doub
doub
doub

xy2(t, xy,
xy3(t, xy,
xy3(t, xy,
xy2(t + h,

rn xy + (ki

in(void) {
1.0;
1.0;
1.0;

le c

le e

le g
le h
i=0;

j = 1000000;
lem=1.0;

le r;

le rg;

le t = 0.0;

le vx = 0.0;
le vy;

le x = 3.0;

le y = 0.0;

v, h);

v, h, k1);

v, h, k2);

xy + k3, v, h);

+ 2.0 x k2 + 2.0 x k3 + k4) / 6.0;

0.001;

r = pow(pow(x, 2.0) + pow(y, 2.0), 0.5);

rg = 2.0 x g *xm / pow(c, 2.0);
vy = pow(2.0 *x (e + g *xm / 1), 0.5);

whil

e(i < j) {

printf ("%f\t%f\n",x, y);
r = pow(pow(x, 2.0) + pow(y, 2.0), 0.5);

i++;

if

3

VX

vy

(r <= 1rg) {

i=7j;

va(t, vx,
va(t, vy,

g, m, x, r, h);
g, m, y, r, h);
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xy4(t, x, vx, h);

xy4(t, y, vy, h);
t + h;

<
I

}

return O;
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#include <stdio.h>
#include <math.h>

double ri(double r, double tau, double R, double sigma) {
return pow(R, 0.5) / sigma;
}

double r2(double r, double tau, double R, double sigma, double h) {
return h * ri(r, tau, R, sigma);

}

double r3(double r, double tau, double R, double sigma, double h, double k) {
return h * ri(r + 0.5 * k, tau + 0.5 * h, R, sigma);

}

double r4(double r, double tau, double R, double sigma, double h) {
double k1, k2, k3, k4;

k1 = r2(r, tau, R, sigma, h);

k2 = r3(r, tau, R, sigma, h, ki1);

k3 = r3(r, tau, R, sigma, h, k2);

k4 = r2(r + k3, tau + h, R, sigma, h);

return r + (k1 + 2.0 * k2 + 2.0 * k3 + k4) / 6.0;

double phil(double phi, double tau, double a, double delta, double r,
double e, double 1z, double sigma) {
return (a / delta * (2.0 * r * e - a *x 1z) + 1z) / sigma;

}

double phi2(double phi, double tau, double a, double delta, double r,
double e, double 1z, double sigma, double h) {
return h * phil(phi, tau, a, delta, r, e, 1z, sigma);

b

double phi3(double phi, double tau, double a, double delta, double r,
double e, double 1z, double sigma, double h, double k) {
return h * phil(phi + 0.5 * k, tau + 0.5 * h, a, delta, r, e, 1z, sigma);
+
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double phi4(double phi, double tau, double a, double delta, double r,
double e, double 1z, double sigma, double h) {
double k1, k2, k3, k4;

k1 = phi2(phi, tau, a, delta, r, e, lz, sigma, h);

k2 = phi3(phi, tau, a, delta, r, e, 1z, sigma, h, kl);

k3 = phi3(phi, tau, a, delta, r, e, lz, sigma, h, k2);

k4 = phi2(phi + k3, tau + h, a, delta, r, e, 1z, sigma, h);

return phi + (k1 + 2.0 * k2 + 2.0 * k3 + k4) / 6.0;

int main(void) {
double a = 0.0;
double delta;
double e = 1.0;
double h = 0.001;
int i = 0;
int j 1000000;
double 1z = 0.0;
double m = 1.0;
double phi = 0.0;
double r = 3.0;
double R;
double rg;

double sigma;
double tau = 0.0;
double x;

double y;

rg = 2.0 * m;

while(i < j) {
x = r * cos(phi);
y = r * sin(phi);
printf ("%E\t%f\n", x, y);
sigma = pow(r, 2.0);
delta = pow(r, 2.0) - 2.0 * m * r + pow(a, 2.0);
R=-(1.0 - pow(e, 2.0)) * pow(r, 4.0)
+ 2.0 * pow(r, 3.0)
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-(pow(a, 2.0) * (1.0 - pow(e, 2.0)) + pow(lz, 2.0)) * pow(r, 2.0)
+ 2.0 * pow((a *x e - 1z), 2.0) * r;
R = fabs(R);
i++;
if(r <= rg) {
i=73;
}
phi = phi4(phi, tau, a, delta, r, e, lz, sigma, h);
r = r4(r, tau, R, sigma, h);
tau = tau + h;

3

return O;
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